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ÍÛæ̃ Û¶ÛÛ :   þùÁéõïõ ¸ÛóÊ¶Û¶ÛÛ •Ûä¨Û ÍÛÁõ”ÛÛ ™öé. 

Instruction : All question carry equal marks.  
 
1. ¸ÛóÛþéùÜÉÛïõ …¬ÛÙÉÛÛÍªÛ¶ÛÛ …½ýÛÛÍÛ¶Ûä× ¾ÛÐü«ÈÛ ›÷¨ÛÛÈÛÛé. ¸ÛóÛþéùÜÉÛïõ ÜÈÛïõÛÍÛ¶ÛÛé ÜÍÛ±ùÛ×©Û ÍÛ¾Û›ÛÈÛÛé. 14 
 State the importance of study the regional Economics. Explain the theory of regional 

development. 
    …¬ÛÈÛÛ/OR 

 ½ÛÛÁõ©ÛàýÛ …¬ÛÙïõÛÁõ¨Û¾ÛÛ× •Ûä›÷ÁõÛ©Û¶ÛÛ Í¬ÛÛ¶Û¶Ûà Äõ¸ÛÁéõ”ÛÛ …Û¸ÛÛé. 

 Outline the place of Gujarat in the Indian Economy.  
 

2. •Ûä›÷ÁõÛ©Û ÁõÛšýÛ¶ÛÛ ÈÛÍ©Ûà ÜÈÛÌÛýÛïõ ÈÛÅÛ¨ÛÛé ÈÛÍ©Ûà¶Ûà •Ûà˜Û©ÛÛ, ÈÛýÛ ¼Û×µÛÛÁõ¨Û …¶Ûé ÜÉÛ“Û¨Û¶ÛÛ þùÁõ¶ÛÛ ÍÛ×þù½ÛÙ¾ÛÛ× 
ÍÛ¾Û›ÛÈÛÛé.   14 

 Explain the population trends in Gujarat. State with reference to population density, Age 
composition and literacy rate.  

…¬ÛÈÛÛ/OR 

 •Ûä›÷ÁõÛ©Û ÁõÛšýÛ¾ÛÛ× ÈÛÍ©Ûà ÈÛèÜ±ù þùÁõ¶ÛÛ ÈÛÅÛ¨ÛÛé ©Û¸ÛÛÍÛà ÍÛÁõïõÛÁõ¶Ûà ÈÛÍ©Ûà ¶ÛàÜ©Û¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé. 

 Examine the trends of population growth rate and population policy of Gujarat State.  
  

3. •Ûä›÷ÁõÛ©Û¾ÛÛ× ÝÍÛ˜ÛÛˆ¶Ûà ÍÛÈÛÅÛ©ÛÛé¶ÛÛ ÜÈÛïõÛÍÛ¶Ûä× ¾ÛÐü«ÈÛ ›÷¨ÛÛÈÛÛé. ÍÛÁõþùÛÁõ ÍÛÁõÛéÈÛÁõ ¶Û¾ÛÙþùÛ ýÛÛé›÷¶ÛÛ ÜÈÛÉÛé ¶ÛÛêµÛ 
ÅÛ”ÛÛé.    14 

 Explain the importance of development of irrigation facilities in Gujarat. Write a note on 
Sardar Sarovar Narmada Project.  

     …¬ÛÈÛÛ/OR 

 •Ûä›÷ÁõÛ©Û¾ÛÛ× ›÷¾Ûà¶Û ÈÛ¸ÛÁõÛÉÛ, ¸ÛÛïõ¶Ûà ©ÛÁõÛÐü …¶Ûé ”Ûé©Û ¸Ûó•ÛÜ©Û¶Ûà ÍÛ¾Ûà“ÛÛ ïõÁõÛé. 

 Examine the land utilization, cropping pattern and the progress of agriculture in Gujarat.  
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4. •Ûä›÷ÁõÛ©Û¾ÛÛ× …Ûíé²ÛéÜ•Ûïõ ÜÈÛïõÛÍÛ¶Ûà ¸Ûó•ÛÜ©Û ©Û¸ÛÛÍÛÛé. 14 
 Examine the progress of Industrial Development in Gujarat.  
   …¬ÛÈÛÛ/OR 
 (…) •Ûä›÷ÁõÛ©Û¾ÛÛ× ÐüàÁõÛ Š²Ûé•Û 
 (A) Diamond Industry in Gujarat.  
 (¼Û) •Ûä›÷ÁõÛ©Û¾ÛÛ× ”ÛÛÍÛ …ÛÜ¬ÛÙïõ ÜÈÛÍ©ÛÛÁõ-SEZ 
 (B) Special Economy zone in Gujarat-SEZ 
  
5. ÍÛÛ˜ÛÛé ÜÈÛïõÅ¸Û ¸ÛÍÛ×þù ïõÁõÛé : 14 
 Select the correct option : 
 (1) •Ûä›÷ÁõÛ©Û ÁõÛšýÛ¾ÛÛ× ïäõÅÛ Ü›÷ÅÅÛÛ…Ûé¶Ûà ÍÛ×”ýÛÛ ________ ™öé. 
  (a) 26 (b) 28 (c) 33 
  The total number of districts in Gujarat are ________. 
  (a) 26 (b) 28 (c) 33 

 (2) •Ûä›÷ÁõÛ©Û¶ÛÛ ÜÈÛïõÛÍÛ¶ÛÛé Ü¶ÛþëùÉÛïõ ________ ™öé. 
  (a) ”Ûé©Û Š©¸ÛÛþù¶Û¾ÛÛ× ÈÛµÛÛÁõÛé 
  (b) …Ûíé²ÛéÜ•Ûïõ Š©¸ÛÛþù¶Û¾ÛÛ× ÈÛµÛÛÁõÛé 
  (cõ) ¾ÛÛ¬ÛÛþùà¥ø …ÛÈÛïõ¾ÛÛ× ÈÛµÛÛÁõÛé 
  The indicator of development of Gujarat is _______. 
  (a) increase in agriculture production.  
  (b) increase in Industrial production. 
  (c) increase in per capita Income. 

 (3) •Ûä›÷ÁõÛ©Û¾ÛÛ× ________ Ü›÷ÅÅÛÛ¾ÛÛ× ÍÛÛíé¬Ûà ÈÛµÛä ÈÛÁõÍÛÛþù …ÛÈÛé ™öé. 
  (a) ÍÛäÁõ©Û (b) ¦øÛ×•Û (c) ”Ûé¦øÛ 
  The highest rainfall is in _______ district of Gujarat.  
  (a) Surat  (b) Dang  (c) Kheda 

 (4) ï×õ¦øÅÛÛ ¼Û×þùÁõ ________ Ü›÷ÅÅÛÛ¾ÛÛ× …ÛÈÛéÅÛä× ™öé. 
  (a) ïõ˜™ö (b) ›Û¾Û¶Û•ÛÁõ (c) ½ÛÛÈÛ¶Û•ÛÁõ 
  Kandala Port is in ______ district.  
  (a) Kachchh (b) Jamnagar (c) Bhavnagar 

 (5) •Ûä›÷ÁõÛ©Û¾ÛÛ× ÍÛÛíé¬Ûà …Ûé™ä×ö ÍÛÛ“ÛÁõ©ÛÛ ¸Ûó¾ÛÛ¨Û ________ Ü›÷ÅÅÛÛ¾ÛÛ× ™öé. 
  (a) þùÛÐüÛéþùö (b) ¸Û×˜Û¾ÛÐüÛÅÛõ (c) ïõ˜™ö 
  The lowest literacy rate is in ______ district of Gujarat.  
  (a) Dahod (b) Panchmahal (c) Kachchh 

 (6) •Ûä›÷ÁõÛ©Û¾ÛÛ× ÍÛÛíé¬Ûà …Ûé™öà ÈÛÍ©Ûà µÛÁõÛÈÛ©ÛÛé Ü›÷ÅÅÛÛé ________ ™öé. 
  (a) …¾ÛÁéõÅÛà (b) ¦øÛ×•Ûõ (c) ¶ÛÈÛÍÛÛÁõà 
  The lowest population is in _______ district of Gujarat.  
  (a) Amareli  (b) Dang (c) Navsari 



 (7) •Ûä›÷ÁõÛ©Û¾ÛÛ× ÈÛÍ©Ûà¶Ûà ÍÛÛíé¬Ûà …Ûé™öà •Ûà˜Û©ÛÛ _______ Ü›÷ÅÅÛÛ¾ÛÛ× ™öé. 
  (a) ¾ÛÐéüÍÛÛ¨ÛÛ (b) ïõ˜™öõ (c) ¶Û¾ÛÙþùÛ 
  The lowest population density is in ______ district of Gujarat.  
  (a) Mehsana (b) Kachchh (c) Narmada 

 (8) •Ûä›÷ÁõÛ©Û¶ÛÛé ÈÛÍ©ÛàÈÛèÜ±ù¶ÛÛé þùÁõ ________ ¤øïõÛ ™öé. 
  (a) 18.5 (b) 19.1 (c) 20.2 
  Population growth rate of Gujarat is ______ percentage.  
  (a) 18.5 (b) 19.1 (c) 20.2 

 (9) •Ûä›÷ÁõÛ©Û¶ÛÛé ¾Ûä”ýÛ ÁõÛéïõ¦øàýÛÛé ¸ÛÛïõ ________ ™öé. 
  (a) ÉÛéÁõ¦øà (b) ©Û¾ÛÛïäõõ (c) ¾Û•ÛºõÇà 
  The main cash crop of Gujarat is _______. 
  (a) Sugarcane (b) Tobacco (c) Ground nut 

 (10) ¸ÛàÇà ’õÛ×Ü©Û _______ ÍÛÛ¬Ûé ÍÛ×ïõÇÛýÛéÅÛ ™öé. 
  (a) þæùµÛö (b) ©ÛéÅÛàÜ¼ÛýÛÛ× (c) ºõÇÛé-ÉÛÛïõ½ÛÛœ÷ 
  Yellow Revolution is connected with ________. 
  (a) milk (b) oil seeds (c) fruits-vegetables 

 (11) NDDB¶Ûä× ÈÛ¦äø ¾Û¬Ûïõ ________ ”ÛÛ©Ûé ™öé. 
  (a) ¾ÛÐéüÍÛÛ¨ÛÛ (b) ¸ÛÛÅÛ¶Û¸ÛäÁõõ (c) …Û¨Û×þù 
  The main centre of NDDB is at _______ 
  (a) Mehsana (b) Palanpur (c) Anand 

 (12) •Ûä›÷ÁõÛ©Û¾ÛÛ× ÍÛÛíé¬Ûà …Ûé™öÛ Š²Ûé•ÛÛé __________ Ü›÷ÅÅÛÛ¾ÛÛ× ™öé. 
  (a) ïõ˜™ö (b) ¦øÛ×•Û (c) ÈÛÅÛÍÛÛ¦øõ 
  The lowest number of industries are in _______ district of Gujarat.  
  (a) Kachchh (b) Dang (c) Valsad 

 (13) Á×õ•Û ÁõÍÛÛýÛ¨Û Š²Ûé•Û _______ Ü›÷ÅÅÛÛ¾ÛÛ× ÜÈÛïõÍýÛÛé ™öé. 
  (a) ÈÛÅÛÍÛÛ¦ø (b) …¾ÛþùÛÈÛÛþùõ (c) ½ÛÄõ˜Û 
  Colour-chemical industry is expanded in ______ district.  
  (a) Valsad (b) Ahmedabad (c) Bharuch 

 (14) …éÜÉÛýÛÛ¶Ûà ÍÛÛíé¬Ûà ¾ÛÛé¤øà GIDC ________ ”ÛÛ©Ûé ™öé. 
  (a) …¾ÛþùÛÈÛÛþùö (b) …×ïõÅÛéÊÈÛÁõõ (c) ÁõÛ›÷ïõÛé¤ø 
  Asia’s biggest GIDC is at _______. 
  (a) Ahmedabad (b) Ankleshwar (c) Rajkot 
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